
namn: 　　　　　　　 Datum: 　　　　　　 Poäng: 　　　

Polynomutvidgning

x + (3 + 6x)(x − 3)(3x − 5) 3x + (1 − 6x)(x − 2)(2x − 3)

2x − (5 − 2x)(x + 1)(3x − 2) (2x − x + 1)(3x + 3) + 6 × 5x + 62

(2x − 6)(4x − 1) − 6x − 2x − 32 2 (6x − 3)(2x − 1)(2x − 1)

(6x + 4x − 1)(3x + 1) + 4x − 62 (6x − 4)(3x − x + 2) + (6x + 1)(3x + 2)2

(6x − 5x − 6)(2x + 4) + 3 × 2x − 62 5x + (1 + x)(2x − 1)(3x + 3)
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namn: 　　　　　　　 Datum: 　　　　　　 Poäng: 　　　

Polynomutvidgning

x + (3 + 6x)(x − 3)(3x − 5)

18x − 75x + 49x + 453 2

3x + (1 − 6x)(x − 2)(2x − 3)

−12x + 44x − 40x + 63 2

2x − (5 − 2x)(x + 1)(3x − 2)

6x − 13x − 7x + 103 2

(2x − x + 1)(3x + 3) + 6 × 5x + 62

6x + 3x + 30x + 93 2

(2x − 6)(4x − 1) − 6x − 2x − 32 2

8x − 8x − 26x + 33 2

(6x − 3)(2x − 1)(2x − 1)

24x − 36x + 18x − 33 2

(6x + 4x − 1)(3x + 1) + 4x − 62

18x + 18x + 5x − 73 2

(6x − 4)(3x − x + 2) + (6x + 1)(3x + 2)2

18x + 31x − 63

(6x − 5x − 6)(2x + 4) + 3 × 2x − 62

12x + 14x − 26x − 303 2

5x + (1 + x)(2x − 1)(3x + 3)

6x + 9x + 5x − 33 2
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